4 ‘ 3 fa 1

THIS DRAWING 1S UNPUBLISHED. RELEASED FOR PUBLICATION 20 REVISIONS

_ ALL RIGHTS RESERVED.
@ COPYRIOHT 20 BY P LTR DESCRIPTION DATE DWN APVD

A INITTIAL 25MAR201T | QY cw

NOTES:

34

| TECHNICAL CHARACTERISTICS:
INSULATTON MATERTAL: PC(GRAY)
RATED VOLTAGE: CONDUCTOR-GROUND: 400V
CONDUCTOR-CONDUCTOR: 690V
RATED CURRENT: 35A

M4 SCREW, RECOMMENDED TIGHTENING TORQUET. 2Nm INSULATION RESISTANCE: >=400MC)
M4 %4, g#454% | 2Nm RATED IMPULSE VOLTAGE: 6KV
POLLUTION DEGREE: 3
oX M4 SCREW, RECOMMENDED TIGHTENING TORQUE I.2Nm FLAMMABILITY: UL94V-0
6X M4 B2 ##4%4E | 2Nm MATING CYCLES: 500

WIRE RANGE: [.5mm2~6.0mm2 (AWGI6-AWGIO0)

| | CONTACT FINISH: SILVER PLATED
1 22{ e CONTACT TYPE: SCREW CLAMP (M4)
D = S| |© .
! .
[ = W S [ 0 (7 o " s
- g4t PC(GRAY)
\ ™~ \ N BrwE: R4%-4: 400V
| = S84 690V
| ‘ - mEwn: 35A
wgpl - >-400MO)
4% M3 SCREW,RECOMMENDED TIGHTENING TORQUE 0.5Nm BAsE: 6KV
A% M3 8% ##4%48E0  5Nm AREg 3
BA%E UL94V-0
Bk 500

#4358 | Smm2~6.0mm2 (AWGI6-AWGIO)
WTREAR: 4R
BEAR . RUEE (M4)

5 68.95
|
|
|
— O | 7¢}7 HSB-006 MALE INSERT,STAINLESS
- | 172060062101-002 | HSB-006-M STEEL SCREW,NO LOGO
_ | 4 . HSB - 00624, T84 £L0G0
-~ P T I PART NUMBER PART DESCRIPTION
4£;] i - #og # #
— - THIS DRAWING IS A CONTROLLED DOCUMENT. [DWN L OMARZ2OTT
‘ i (% CH(S‘ANG YUAQNWARQOH - TE TE Connectivity
DIMENSIONS: TOLERANCES UNLESS. AP%D‘ NO YAO ESMAREO‘Y NAVE
17 5 4X 33 " OTHERWISE SPECIFIED: CHR TS WANG HSB-006-M
0 PLC +- PRODUCT SPEC
{§9’ %ZE} bhe 1 108-137052
i %ﬁﬁwﬁ%l}ﬁg%§§f$§J§\Jég B §£E§ - . AWLffoTZ?E52 SIAE | CAGE CODE | DRAWING 1O reTeTEy e
e A A T WTERIAL s : A3l - (C=T2060062101002
- - CUSTOMER DRAWING I e T L

1470-19 (3/13)



	Sheet 1
	Views
	new_view_1
	top_3
	bottom_4
	left_5
	new_view_6



